Program Code:02UG020

OP JINDAL UNIVERSITY

Mid Semester Examination, Oct-Nov 2023

B.Com 1st Semester [COM 23 101]

School of Management

Financial Accounting

Time: 2 Hrs.

Max. Marks: 50

Note: Section A : Answer any four out of five qJ«:stion. [04Q x 0Smarks]
Section B : Answer any three question out of Four [03Q x 10 marks]

Section A ( 20 marks)
Answer any 4 questions [04 x 05 marks=20 marks]
a. | Discuss on Accounting Approaches. 5 1 C1 | KLI
b. | Define the following terms-
a. Capital Transactions & Revenue Transactions
b. Capital Expenditure & Revenue Expenditure s | cot | kL1
c. Capital Receipts & Revenue Receipts )
d. Capital Profit & Revenue Profit
e. Capital Loss & Revenue Loss
c. | Write the fundamentals of Accountings. 3] COTE K11
d. | Prepare an Accounting Equation from the following transactions —
1. Invested Capital in the firm 230000
2. Paid wages 26000
3. Brought Plant for cash 250000 > (CRR B
I 4. Purchase goods tor cash #4000
5. PaidBalary 34000 . 0 ha e
e. | Hlustrate the journal entries for the following transitions:-
S. Date Transactions
No
1 1* April Mr. V and Mrs. V started business with Cash of 24.00.000
and 22,50,000 R A |
2 10™ April Bro:xght Office furniture of of 25000 for cash Bill No 5 1CO2 | KI2
2023/F/4
3 15" April | January 10 ]
4 20" April Brought goods from Mr. Bose on credit for 25000
5 30™ April Salary of one receptionist @Z5000 per month and one officer
@Z10000 per month. The salary for the current month
| payable to them.
Section B ( 30 marks)
Answer any 3 questions [03 x 10 marks=30 marks]
a. | Explain any five Principles of Accounting. e 10 | CO1 | KL2
b. | Write the short notes on (Any Two)- KL1
5 a. Generally Accepted Accounting Principles (GAAP)
: b. International Financial Reporting Standards (IFRS) 10 1402
¢. Types ot accounts
d. Bank Reconciliation Statement b e S T S |




" TP ; : : ST [y
Prepare the Cash book on the basis of following transactions in the ‘ CO2 1 KLZ
book of Mr. Abhishek-
S. Date Transactions
No o v
I January | Opening cash balance was 3,800 and bank balance was |
s RERIRN L ) S el e A !
2 | January 4 Wages paid in cash 21500 bk s TR
3 | January 5 Received cheque of #19.800 for KBK enterprises after 10
allowing discount of 2200
4 | January 7 Paid to consultancy charges by cheque for 27,500
5 | January 10 Cash of 22,500 withdrawn form bank
6 | January 12 Received a cheque for 24,500 in full settlement of the
account of Mr. X at a discount of 10% and deposited the
same into the bank.
7 | January 15 X’s Cheque returned dishonored by the bank.
Describe the accounting cycle with specimen of each steps/phases of CO2 | KL2
accounting cycles.
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Course Code: 02UG020

OP JINDAL UNIVERSITY

Mid Semester Examination, November -2023

B.COM 1* Semester [BCOM-23- 102] S

School of Management

Business Law

Time: 2 Hrs. Max. Marks: 50
Note:
| M | CO | KL
Section A ( 20 marks)
Answer any 4 questions [04 x 05 marks=20 marks]

a. | Difference between Sale and Agreement to Sale 5 CO % KL

2 2
b. | Explain with example Implied contract and Quasi contract 5 CO 1K

1 1

1 c. | Difference between Contract and Agreement 5 CO | KLk

¥ 1 1
d. | Difference between Condition and Warranty 5 CO' | KL

2 2
e. | Explain right of buyers 5 CO: | KL

P 2

Section B ( 30 marks)
Answer any 3 questions [03 x 10 marks=30 marks]

a. | Define Contract. What are the essentials features of a valid 10 CO | KL

contract 2 2
b. | What do you mean by discharge of contract? Explain different o CO | KL

5 modes of discharge of contract 1 1
c. | Explain the rights of unpaid seller 10 CO | KL

2 2
d. | What do yow mean by breach of contract? Explain the remedies 10 CO | KL

for breach of contract 2 2
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Program Code:02UG20
OP JINDAL UNIVERSITY

Mid Semester Examination, October-2023

BCOM 1th Semester [B. Com-23 103]

School of Management

Business Mathematics

Time: 2 Hrs. Max. Marks: 50

| M | CO | KL

Section A (20 marks)

Answer any 4 questions [04 x 05 marks=20 marks]

a. | Solve the quadratic equation 2x2+ x — 300 = 0 using factorization. 5 I 11

b. | For a student to clear an examination, he must score 55% marks. If he gets 120 5 I 1
and fails by 78 marks, what is the total marks for the examination?

c. | A shopkeeper sells his goods at 30% loss & weight 350 gm instead of 380 gm.

1 A \ 5 I | I
Find his profit or loss percentage?

d. | IfP: Q=3/8:1/2, Q: R=3/5:7/10, R:S=5/6:2/3, Find out P: Q=R:S 5 I 111
IfU={a,b,c,d,e,f},A={a,b,c},B={c,d,e,f},C={c,d,e},ﬁnd(Aﬂ . I W
B)u(ANCQ).

Section B (30 marks)
Answer any 3 questions [03 x 10 marks=30 marks]
a. | Salaries of Ravi and Sumit are in the ratio 2:3. If the salary of each is increased 01 1 1

by Rs. 4000, the new ratio becomes 40:57. What is Sumit's salary?

b. | Ram walks at a speed of 12 km/h. Today the day was very hot so walked at %
of his average speed. He arrived his school 10 minutes late. Find the usual time | 10 | II
he takes to cover the distance between his school and home?

2 | ¢ | A sum of money is to be distributed among A, B, C, D in the proportion of 5:
2:4: 3. If C gets Rs. 1000 more than D, what is B's share? 10 II I

d. | X, Y, Z separately can complete a work in 10, 20, 30 days respectively. They
start working together, after 4 days X left, the work after 2 days Y also leaves
the work. The remaining work is done by Z. In how many days will be the
work be completed. ‘ )

100 10
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Course Code: BCOM-23-104

OP JINDAL UNIVERSITY

Mid Semester Examination, November-2023

B.Com.(H) 1** Semester [Program Code: 02UG020]

Bachelor of Commerce (H)

Business Communication & Correspondence

Time: 2 Hrs. Max. Marks: 50
Note:
| M | CO | KL
Section A ( 20 marks)
Answer any 4 questions [04 x 05 marks=20 marks]
a. | Define Communication with its process. Explain its components with a 5 COl1 KL1
diagram.
b. | Write a note on ‘Channel of Communication’. CO1 | KL1
Why ‘Feedback’ is important in the process of Communication? ;
1 c. | What are the various types of Verbal Communication? 5 | COl1 | KL1
d. | What are the merits and demerits of Oral and Written Communication? 5 | COl1 | KLI
Why is it necessary to circulate the ‘Agenda’ well in time to all those who have CO2 | KL2
a right to attend a meeting? 3
Section B ( 30 marks)
Answer any 3 questions [03 x 10 marks=30 marks]
a. | What are the various types of Barriers to Communication? Explain in detail. 10 | CO1 | KL1
b. | Explain Non-Verbal Communication with its types in detail with examples. 10 | COl | KLI
5 c. | Describe the principles of effective communication with reference to 7 C’s. 10 | CO1 | KL1
d. | Imagine that you are the Secretary of the Staff Association of your CO2 | KL2
organization. Write a Notice giving the Agenda of the First Business Meeting 10
of the General Body, convened to elect the Office Bearers.
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Program Code: 02UG020

OP JINDAL UNIVERSITY

Mid Semester Examination, October-2023

B Com 1*' Semester [Course code: BCOM-23-105]

AT 0 S The vt am ey
AN

School of Management

Indian Knowledge System

Time: 2 Hrs.

Max. Marks: 50

Note: Answer all parts of a question in one place.

Section A ( 20 marks)
Answer any 4 questions &ad 4 T4 & IR U [04 x 05 marks = 20 marks]

Sk | Part Question M | CO | KL
a. | According to Indian Knowledge System HRdId 9 Usid & AR —
How many Vedas are there and what are those 35 f&a- & iR 3 FH-PH AT 5 1 ]
How many Vidyas and Kalas are there faa-t fagm 3fiz et 82
b. | According to the research works done on Indian Knowledge System YR
I YTt WR b2 T =y HTf 3 SR —
How old is Veda? dg &1 34 fasa-it 82
When was Bible compiled? STgfod &a Gaford o1 78 2o 5 I 1
When was the Quran compiled? S &d Hhferd fosar mar Ut
What was the length of Ram Setu? I\ ¥g &1 darg farat ot
| What was the knowledge source for Veda? g &1 3 Iid &1 U2
¢. | Give two examples from Ramayan, where a character exhibited loyalty and
integrity. Justify your answers. IJHIU F & IS8T MG, STEl U uTH A AT 3R 3 ) 2
AT 1 UG 51| 307 ITRY o1 3 Rig #¥ |
d. | Give two examples from Ramayan how Sri Ram assessed the strengths and
weaknesses of Lankesh Ravana. Y1901 4 &1 Q60 ST % o I aedpy | 5 | 2 Z
9V &1 RTAT 3R BHNNAT BT AT b
e. | Give examples from both Ramayana and Mahabharata about the rejection of
ethical advices by unethical people. 3ffde @ gRT A TaTE & SRAGR FT | 5 2 2
& GR H I SR AETHRA S & IR0 S|
Section B ( 30 marks)
Answer any 3 questions &ad 3 U8 & IR AT [03 x 10 marks=30 marks]
SL. | Part Question M | CO | KL
a. | Give examples of multi-skilled characters from Mahabharata. Justify your
answers. HETHRA & SEHRICT U1 & JaTR01 RT1 0 IR o7 MR Rig e | 10| 2 | 2
b. | Give examples of giving words or keeping promises from both Ramayana
and Mahabharata. Wmaﬁvnam@faawéﬁmaaﬁﬁwﬁ?ﬁmml A/ i
¢. | Read the short story and explain thereof what to learn (or not to learn) —
el B R o G L (in English) - --
The Final Journey
This is the story of the Pandavas walking up to the top of Mount Meru at the e o
very end, in a bid to ascend to heaven in their mortal forms.
The five of them begin at the foot of the hill, but after a few leagues,




Draupadi drops to her knees and to her death. After her, Sahadeva falls, then
Nakula. and then Bhima. Yudhishthir alone reaches the top of the mountain,
accompanied by a dog.

The reasons tor which the four brothers and the wife fail to make it to the top
are given by Yudhishthir himself. Draupadi’s great sin was to love her one
husband (Arjuna) more than the others. Sahadeva, Nakula and Arjuna were
vain about one thing or the other — intelligence, beauty and valour
respectively — whereas Bhima was consumed by gluttony and greed
throughout his life.

I cannot but wonder if this was just Yudhishthir’s way of rationalizing his
own virtuous nature relative to his brothers’. It could be that none of the
others simply had the unwavering desire to ascend to heaven in their mortal
bodies that seemed to consume Yudhishthir in this story. Perhaps it is this
desire that carried him forth.

Seen this way, Yudhishthir is guilty of vanity as well, Just like his brothers.
Just that his vanity is about how virtuous a man he is, and how naturally
deserving he is of being a ‘god among men’. 1 find it strange that vanity for
one thing (beauty, valour and intelligence) is deemed to be bad whereas
vanity for virtue (i.e. a man thinking of himself as inherently ‘better’ than
others) is shown to be good.

If I could rewrite the story, therefore, I would make it so that when
Yudhishthir scales the mountain and gets to the top, he finds nothing. No
heaven. No golden chariots welcoming him. No heaven gates opening.
Nothing. He just goes to the top, realizes that his vanity was no different to
that of Arjuna’s, and falls to his death just like his brothers and wife.

After all, that was what must have really happened.
- - (in Hindi) ---
sifow g
u%ﬂ%@a‘fﬁmﬁ%aﬁ@mﬁ%‘iﬂﬁ%&ﬁﬁaﬁ%fﬁq 3fd # 7% gdd & A1t ab
ST 81
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51 Lesser Knawn Toles from the Mohabhoroto —By Sharath Komarraju [Source: s harathkao marraju.com]

Read the short story and explain thereof what to learn (or not to learn) —
(in English)
Barbarika
[t is often said about the Kurukshetra War that the most powerful warrior of
those times did not fight in it. Krishna is the person being referred to here, but
there is another warrior who did not fight in the war who can claim to the title
of ‘the most powerful warrior of all”. His name is Barbarika.

He is the son of Ghatotkacha, so by rights. he would have been on the side of
the Pandavas. But before he sets out to take part in the war, Barbarika
promises his mother (yes, another promise) that he will fight on whichever
side is weaker of the two.

Barbarika’s power came from three divine arrows. When he shot the first
arrow, it marked all the objects that ought to be destroyed. The second arrow
marked all the objects that ought to be kept safe. The third arrow destroyed
all the objects marked by the first and spared all the objects marked by the
second.

Right about this time, Krishna was asking each great maharathi about how
long it would take them to finish the war. Bhishma said twenty days. Arjuna
said twenty eight. Karna said it would take him twenty-four days, while
Dronacharya said it would take twenty five.

When Krishna asked young Barbarika how long he would take to finish the
war, the hero said, ‘No more than a minute.’

Such extreme power — no matter which side held it — was not safe for the
world, decided Krishna. He told the boy that the promise he gave to his
mother was a vague one. because who could decide which of the two armies
was weaker? Yes. the numbers suggested that the Kauravas were stronger,
but the Pandavas had the power of the Gods on their side. and of course, they
had Krishna too. So, while quantitatively the Kaurava side was stronger, one
could argue that the Pandavas were stronger qualitatively.

10




Barbarika found himself confused by Krishna’s words, and in order not to run
the risk of inadvertently breaking his promise to his mother, decided to sit by
the sidelines and watch.

This is not the only occurrence of a hero being dissuaded from using his most
powerful weapons. Dronacharya is said to own the Brahmandastra, which he
does not use for the sake of the world’s well-being. The same could be said
about Pashupatastra. to obtain which Arjuna commits severe austerities only
to keep it unused in his quiver.

(in Hindi)
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31 Lesser Knawn Toles from the fohobhoroto —By Sharath Komarraju [Source: 5 harat hkamarraju.com]




